Vista da "A"
Flangia "99A"

b

44

Riduzione interna

Guarnizione spirotalica
De.33di.25,3 h.4

Art. 7490

2 Dadi M8
flangiati

cod.200297
500
2 Distanziali in ALL.
De.20 Di.8,5 h.30
300173502

Vite T.E. flangiata
M8 x 35

080191001

2 Viti T.E. flangiate
M8 x 50

Vite T.E. flangiata
M8 x 25

Silenziatore HAND MADE ~GCP™ per

HONDA X8R-S - X8R-X 50



